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N10 G90 
N20 G96 S1000 
N30 T1 D1 M03 M08 
N40 G00 X-22 Y0 Z-5 
N50 G01 X90 Y0 Z-5 F0.5 
N60 G01 X90 Y80 Z-5 F0.5 
N70 G01 X-24 Y80 Z-5 F0.5 
N80 G00 X-100 Y-60 Z-5  F0.5 
N90 M09 
N100 M30 
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N20 T1 D1  
N30 M03 M08 

1N40 G00 X30 Y   Z20 
2N50 G81 X30 Y  Z5 F200 
3N60 G80 X30 Y   Z25 
4N70 G01X50  Y   Z25 
5N80 G81 X50  Y   Z-3  F200 
6N90 G80 X50  Y   Z25 
7N100 G01 X70 Y   Z25 
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11N140 G00  X0 Y0 Z1O0 
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N20 G92 S1500 
N30 T1 D1 

1N40 G00 X60 Z2 M04 
2N50 G01 X60 Z-2 F0.5 
3N60 G01 X-2 Z-2 F0.5 
4N70 G01 X60 Z-2 F0.5 
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7N100 G00 X100 Z50   

N110 M09 
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